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Relação do aço

S20 S22 S35

S61 S66 3xS74

S102 S106

AÇO N DIAM

(mm)

QUANT

(Barras)

UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 28 78 2184

2 5.0 357 24 8568

3 5.0 77 74 5698

4 5.0 28 98 2744

5 5.0 196 94 18424

6 5.0 203 22 4466

7 5.0 7 138 966

8 5.0 287 118 33866

9 5.0 7 148 1036

10 5.0 14 39 546

11 5.0 21 22 462

CA50 12 6.3 514 89 45746

13 6.3 117 104 12168

14 6.3 135 84 11340

15 6.3 90 114 10260

16 6.3 36 139 5004

17 6.3 240 124 29760

18 6.3 24 134 3216

19 6.3 174 99 17226

20 6.3 72 119 8568

21 6.3 56 129 7224

22 8.0 33 113 3729

23 10.0 538 VAR VAR

24 12.5 20 VAR VAR

Resumo do aço

AÇO
DIAM

(mm)

C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

6.3

8.0

10.0

12.5

5.0

1505.2

37.3

731.7

28.8

789.6

405.1

16.2

496.2

30.5

133.9

PESO TOTAL

(kg)

CA50

CA60

948.1

133.9

Volume de concreto (C-25) = 17.47 m³

Área de forma = 151.54 m²
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